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lagr_asym_usr RMS (ppm)

_______________________________ ____H

o (o0} (e} < AN o [e0] © <
< (3¢} ™ ™ o™ (32} N N N
— i — —l i i — - i

(wdd) sy

T'188¢
0'188¢
£'088¢
2'088¢e
T°088¢€
0'088¢
06.8¢
¥'8.8¢€
€'8.8¢
¢'8.8¢
1'8.8¢
0'8.8¢
v',L.8E
€'1.8¢
2'L.8¢8
T,..88
0',.8€
¥'9.8€
€'6/8¢
2'6.8¢
1'9/.8¢
0'6.8¢
0'v.8¢€
9'998¢
§'998¢
7'998¢€
€'998¢
2'998¢€
T1'998¢
0998¢
07'598€
6'G98¢
8'G98¢
1'998¢
9'G98¢
§'998¢€
¥'998¢
£'G98¢
2'998¢
1'598¢
0'598¢€
9'v98¢
G798
'v98¢€
£798¢
298¢
T'v98¢
0'798¢
8'€98¢
1'€98¢
9'€98¢
G'€98¢
¥'€98¢
£'€98¢
2'€98¢
T'€98e
0'€98¢



@ N ) ) © © o ~
2 < - = S
g 8 g o 8§ ¢©
s 2 a PR +_
s + - & o 5 7]
- R .
s 3 e ]
= E
H =
- 3 2 ..m k=1 g < ©
c|§ 5 2 t = & § %
ol & 5 &8 = &8 2 & =
= =
5 —
o) |
= -
B ]
ko] ]
=1 -
o —
o
-
| L | L [ - | L | 7
w_. m © © N o
I —]
© N IMW. ]
O 4 ——1— —
~ I~ —— —
o —_—— —
N I .
n/m —— —
[ToJIN ° 7
@) — —
N~ — —
——— —
—— —
—o—1 —
—_—— —
——— —
....m —— —
c —t— —
— — —
— —
N9 ——— —
< a i — -
o) e had— —
o — —
— —
o
~ —_— —
g — —
—_— —
S —_— —
c! e ]
—— —
> - —
(%] —_— —
a_ — 1 — —
o — 1 —
% —— —
—— —
-_ ———— —
———— —
—_—— —
——1 —]
———i —
—_— —
— —
—_— —
—e—— —
— —
———— —
—_—— —
— — — -
L — -
——— — -
—_—— — .-
— — .-
—— — .-
| — L.
c o Lo LT T e e | !
8 8 8 8
o o o o
© 53 « <



lagr_asym_usl RMS (ppm)

(wdd) sy

T'188¢
0'188¢
£'088¢
2'088¢e
T°088¢€
0'088¢
06.8¢
¥'8.8¢€
€'8.8¢
¢'8.8¢
1'8.8¢
0'8.8¢
v',L.8E
€'1.8¢
2'L.8¢8
T,..88
0',.8€
¥'9.8€
€'6/8¢
2'6.8¢
1'9/.8¢
0'6.8¢
0'v.8¢€
9'998¢
§'998¢
7'998¢€
€'998¢
2'998¢€
T1'998¢
0998¢
07'598€
6'G98¢
8'G98¢
1'998¢
9'G98¢
§'998¢€
¥'998¢
£'G98¢
2'998¢
1'598¢
0'598¢€
9'v98¢
G798
'v98¢€
£798¢
298¢
T'v98¢
0'798¢
8'€98¢
1'€98¢
9'€98¢
G'€98¢
¥'€98¢
£'€98¢
2'€98¢
T'€98e
0'€98¢



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18


